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QUESTION 1

Which of the following are design objects in the Documentation Center version of the Analyzer (CIARA)? 

A. Process flows 

B. Business process objects 

C. Application properties 

D. Database columns 

E. Cascading style sheets 

Correct Answer: ABD 

 

QUESTION 2

What are three effects of running a build clean server command? [Select 3] 

A. All database tables are dropped and rebuilt 

B. All generated artifacts are deleted 

C. All code table files are recompiled 

D. All application navigation files are checked and loaded 

E. All client pages that have changed since the last build are regenerated 

F. All generated and handcrafted code is compiled 

Correct Answer: BCF 

 

QUESTION 3

Which of the following are valid values for the MODE attribute of the MENU element? 

A. GLOBAL 

B. NAVIGATION 

C. TRUE 

D. WIZARD_PROGRESS_BAR 

E. FALSE 

Correct Answer: BD 
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QUESTION 4

Which of the following are valid non-key stereotypes for entity operations? 

A. nkdelete 

B. nkread 

C. nkinsert 

D. nkremove 

E. nkreadmulti 

Correct Answer: BDE 

 

QUESTION 5

Which of the following statements about Multi-Select Lists are correct? 

A. Domains that use multi-select lists must be specified within the MULTIPLE_SELECT section of the Application.prx
file. 

B. The property specified for the TARGET element must have a Domain Definition that ultimately unwinds to the String
type because multiple user selections will be concatenated into a tab-delimited string. 

C. The INITIAL element used should declare a MULTI-SELECT attribute with the value true. 

D. If a SOURCE element is used within the MULTI_SELECT definition to pre-select items in the list, the Server Interface
property it refers to should contain a tab-delimited string. 

Correct Answer: B 

 

QUESTION 6

If a model contains a process class MyProcess, which two of the following class signatures are correct? [Select 2] 

A. curam.impl.MyProcess implements curam.intf.MyProcess 

B. curam.impl.MyProcess implements curam.base.MyProcess 

C. curam.impl.MyProcess extends curam.base.MyProcess 

D. curam.base.MyProcess extends curam.intf.MyProcess 

E. curam.base.MyProcess implements curam.intf.MyProcess 

Correct Answer: CE 

 

QUESTION 7
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Which of the following statements about aggregation in Cúram are correct? Which of the following statements about
aggregation in Cúram are correct? 

A. An entity may aggregate another entity. 

B. A struct may aggregate an entity. 

C. A struct may aggregate another struct. 

D. An entity may aggregate a struct. 

Correct Answer: BC 

 

QUESTION 8

Which of the following pieces of UIM could be used to create this page section? 
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A. Exhibit A 

B. Exhibit B 

C. Exhibit C 

D. Exhibit D 

Correct Answer: A 

 

QUESTION 9
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Which of the following entity stereotypes require the user to specify input parameters when modeling? 

A. nkread 

B. nkmodify 

C. readmulti 

D. nsinsert 

E. nsremove 

Correct Answer: CDE 

 

QUESTION 10

Which of the following scenarios would depend on using the MENU element? 

A. Configuring a control at page-title level with 3 options for the user to select. 

B. Defining a modal page that is part of a wizard. 

C. Specifying that a field in a LIST should contain one or more ACTION_CONTROL elements. 

D. Defining which sections users can navigate to in the Applications Section Bar. 

E. Providing the user with in-page navigation links. 

Correct Answer: BE 
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